
Factorising Mark Scheme

1(a) 7(𝑥 + 3) [1]

1(b) 2(4𝑦 − 5) [1]

1(c) 7(𝑝 + 9) [1]

1(d) 8(3𝑚 − 5) [1]

1(e) 8(5𝑧 + 9) [1]

2(a) 2𝑥(𝑥 + 6) [1]

2(b) 5𝑦(𝑦 + 3) [1]

2(c) 2𝑚(32𝑚 + 5) [1]

2(d) 11𝑝(9𝑝 + 1) [1]

2(e) 2𝑥(17𝑥 + 15) [1]

3(a) 5𝑥(2𝑦 + 1) [1]

3(b) 3𝑥(4𝑥𝑝 + 3) [1]

3(c) 6𝑥2(5𝑝 + 3) [1]

3(d) 25𝑥𝑧(2𝑦 + 1) [1]

3(e) 2𝑥(5𝑥 − 3𝑦2) [1]

4(a) 3𝑥(2𝑥 − 5) [1]

4(b) 8𝑦(𝑧2 − 2𝑦2) [1]

4(c) 3𝑏𝑐(2𝑐 − 5𝑏) [1]

5(a) 3 2𝑥2𝑦 + 3𝑥2– 5𝑥 [1] - Factorising

3𝑥 2𝑥𝑦 + 3𝑥– 5
[1] - Factorising

(This could be answered in one step 

for 2 marks.)

5(b) 3𝑥(𝑦2𝑧 − 2𝑥𝑦𝑧2– 3𝑧2) [1]  - Factorising 

3𝑥𝑧(𝑦2 − 2𝑥𝑦𝑧 – 3𝑧)
[1] - Factorising

(This could be answered in one step 

for 2 marks.)

5(c) 4(5𝑏2𝑐 + 7𝑏𝑐2 − 1𝑐) [1] - Factorising

4𝑐(5𝑏2 + 7𝑏𝑐 − 1)
[1] - Factorising 

(This could be answered in one step 

for 2 marks.)
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